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SFTHETASH
£AH m TEEM [FFERSIDAE|HEK) EH (kg)| &EWM) | FE@E) | RIEWM) ik No.
R1.78 |fZL\CAs &t #Y = @
R1.78 |I2ALA &5t #Y = @
R7.7.8 [ZI1F5 &5t 0] -
R7.78 [[Z<EL A Y = ®
R7.78 |F¥_Y &t By = @
R7.78 [HRLivs A Y = ®
R7.7.8 |R&(H) 48 L) —X ®
R7.7.8 |f¥ &% 5y = ®
R7.78 |L&x &% ) = @
R7.78 |Ep5Y(R—3—) FE Y 504
R7.7.8 |Zwp3Y AaF #Y 8.0
R7.78 |[hEFbw 4 #Y 10 ©)
R7.78 |MEbe &% ) = ©)
R7.78 &9 S5 5y = @
R7.78 |F=h 851 %Y 4 ®
R7.7.8 |kwh A Y = (0
R7.78 [E—<> a5t ) = @
R7.78 |&565ZL &t By = ®
R7.78 |SVPWLAITA At Y -
R7.78 |ZEZEH FhiE Y 0.2
R7.78 |AFZED At Y -
R7.7.8 |MAL& FhiE Y 5
R7.78 |hAL& AaF Y -
R7.78 [IFhiLs B4 Y 10 @
R7.7.8 [[FhiLs = ) = @
R7.7.8 |&&LVE A|E Y -
R7.78 |f=Fh¥ &% ) = ®
R7.7.8 |H£LULM=1F FhiE Y 0.1
R7.7.8 |&£LU Mzl =L Y -
R7.78 |ZDEfIF At #Y -
R7.78 |A%HLHL E4A Y 0.1
R7.7.8 |S7%L&HL aF #Y -
R7.7.8 |&t Y 8.0
R7.78 |[#5t Y 8.0 iR RE
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R7.78 |fZW\CA dtimiE ARt 1.5 10 1728 1512 1242 9]
R7.78 [fZL\CA & ABxt 5.3 10 1728 1620 1080 O]
R7.78 |FZL\lA |t ks 6.8 @
R7.78 [ICALA JbiEE ABxt 0.1 10 2700 @
R7.78 [I2ALA & A%t 21 10 2916 2700 2052 @
R7.7.8 (ISALA At ABxt 45 @
R7.78 [Z1F> 5 ks 0.2 10 3780
R7.78 [Z1F> I ABxt 10
R7.78 |J1F> &it ks 0.3
R7.78 [l&<&Ly f=354 FERE 12.3 15 1404 810 648 [©)
R7.7.8 [l&<&ELy Eh ks 13.0 ®
R7.78 [FvRY BE FERE 235 10 1080 1037 972 @
R7.78 [F¥~RY S A%t 1.5 10 1296 1026 756 @
R7.78 [F¥AY &it AHxt 21.9 @
R7.78 [RoLoyry BE ks 03| —% 194 194 173 ®
R7.78 [RoL2Y™ RE ABxt 0.1 —5% 130 130 108 ®
R7.78 |koLvry Eh ks 0.5 ®
R7.78 [R&(FH) idG] ABxt 06| —X 184 86 ®
R7.78 [RE(B) 34 ks 1.8 5 3024 1404 1296 ®
R7.78 [R&F At AHxt 3.6 ®
R7.78 [LA&R RE ARt 11.6 10 1177 @
R7.7.8 [LAR At AHxt 11.6 @
R7.78 |Ew5Y(X—3—) FHE ARt 01| 50& 2484 1620 1080
R7.7.8 [Ew3Y(H) Wi fiibos 2.0 5 2484 2484 2160
R7.78 [Ew35Y(H) BE ks 0.6 5 2646 2484 2160
R7.7.8 [Ew>5Y At AHxt 5.6
R7.78 |MFbe FHE ks 0.4 10 3240 2700 2484 9@
R7.7.8 [MFbe BRE ABxt 10 )
R7.78 [MFEbe it ks 0.6 )]
R7.78 |49 (%) [ITES fiibos 0.4 5 2160 1944 1080
R7.78 |49 (R) 34 A%t 2.2 4 1512 1188 972 ®
R7.78 (&9 (R) i3] LB 4
R7.78 |%9 Hit ks 3.1 ®
R7.78 [k<h dLimiE Hxt 2.7 4 1728 1404 1188 (@)
R7.78 [k FHE At 0.9 4 1512 1188 1080 @
R7.7.8 (kh Aait FHxt 40 (D)
R7.78 |E—<> E34 ks 06[ 015 92 92 65 ®
R7.78 [E—<> Aait FHxt 0.6 ®
R7.78 |[£535CL R ks 0.8 5 1620 1188 1026 ®@
R7.78 [&£345CL FE LB 20 10 4774 3931 2938 ®
R7.78 [&5HACL Hit ks 4.1 ®@
R7.78 [SPLAITA f334 ik 2
R7.78 [SPLAITA Hit ks -
R7.78 [ZF2FESH idG] LB 0.1 0.2 194
R7.78 |Z12FEH Hit ks 0.1
R7.78 |hAL& FHE Haxt 0.2 5 2376 1296 756
R7.7.8 |MAL& o ks 0.5
R7.78 [[EhL L& idG] ik 40 10 2484 1404 864 @
R7.78 |lEhi L& Eh ks 44 @
R7.78 [&&LvE =I5 ik 0.5
R7.78 [&&LvE BERE ks 0.2 0.5 216 173 97
R7.78 [&&LVE aF ik 0.2
R7.78 |f=Fh& EF ks 5.0 20 3024 2484 2376 ®
R1.78 |f=Fh&F aF ik 54 ®
R7.78 [#£LUL V=l FHE ks 0.4 0.1 184 119 86
R7.7.8 |£LULM=IF |t ik 0.5
R7.7.8 [ZDEFIT f=354 At 0.5 0.2 97 52
R1.78 |ZDEFT aF ik 0.5
R7.7.8 |37L&HL &% ks 0.3 0.1 68 68 54
R7.78 |A7EL&HL FafE ik 14 0.1 59
R7.78 |37L&HL it ks 1.9
R7.78 |& A xt 99.7
R7.7.8 |#3F A%t 99.7 iR RE
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£AA % FTEEH |FENMSIOAZ| #HE2W |28 ke)| SEW) i {E (M) RIE(M) &% No.
R7.78 |YAZ (Parad—IK) [k fizbol 03 10 6,480 5,400 3,780 @
R7.78 |[YAT(SL) B Haxt 1.0 10 8,100 5,400 4,860 @
R7.78 |YAZ (U F/d—LR) & Hxt 1.1 10 5,940 5,616 5,400 @
R7.78 |YAZ a5 LS 24 ©)
R7.78 |33 1T Hxt 0.6 5 6,480 5,940 4,104 )
R7.7.8 |33 aF Hxt 0.6 @
R7.78 |94 (I LS 0.2 0.5 518 410 378
R7.78 |94 FhRE Hxt - 0.5
R7.78 |94% ait LS 04
R7.78 [RES(FTZVLT) T Hxt - 0.3 ®
R7.7.8 |SES(EIE) (1T LS -| 035 ®
R7.7.8 |RES Ch At 0.6 ®
R7.7.8 |L\6L< FhRE LS -| 035
R7.7.8 |L\6LL Ch At =
R7.78 [*Ou(7—LR) FhRE waxt 0.2 8 18,360 17,280 @
R7.78 |»@ A% At 1.6 @
R7.78 |9 L h (FEth) 2] Hxt - 15 ®
R7.78 [FUL v (FEith) 1T} Hxt - 15 ®
R7.78 |9 L h (FEth) EEIN Hxt - 15 ®
R7.7.8 |[F L \h (FEith) FhRE LS 0.7 15 ®
R7.78 [FUL v (FEith) 25 Hxt 3.2 15 ®
R7.78 [FL v &it At 5.2 ®
R7.7.8 |t At 10.8
R7.7.8 |#A&t At 10.8 min:RE

4/4




